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s ] := FourierTransform[f[t], t, 4, FourierParameters -+ (1, -1}]
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simity[s &% V7 -3471301]
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a=Plot[f[t], {t, -3, 3}]
2
b pot[e[t- 2], 15, -3, 2]
c=rot[e[5], tt, 10, 101]

a-poe[f[ 222

22, 1e, 10, 101

Showla, b]
Show!a, ¢, PlotRange » ((-10, 10}, (0, 1}}]
Show[c, d, PlotRange » ({-10, 10}, (0, 1}}]
Show[b, d, PlotRange » ({-10, 10}, (0, 1}}]
= Pot[F[u], {v, -3, 5}]

3 - protfre[e I ur 1], 10, -5, 9]

b= plot[1a[e 5 azpun], @, -3, 5]

$=PLOtEEEA, (0 -2, 217
Show(, PlotRange + ({-10, 10}, {0, 611
3= Plot[Re[3ve™ v (301], 10, -2, 23]

x - motfm[3e e pa01], 0, -2, 2)]
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